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IS AL XA (FEA) 144,000 0 144,000
= 130,000
= 14,000
402 212+ X+=01 & 144,000 0 144,000
= 130,000
[Ea 14,000
01 QI XHZ AL E R (K THE) 14,000 0 14,000
O F=2UFHH & 14,000
—thell F=S1X0HIE 2SI+ EXIAY 7,000
-&fdl SAIOHIHE 28717 XA 7,000
02 QI X2 AL EE(0IETHE) 130,000 0 130,000
O & NHYXE FDHO0IA 130,000
M3 SROMIE 51422 FHIAIY 40,000
< 40,000
~AE NFLOMIE HIDIRAIE SXIZA 40,000
< 40,000
~0IM Ol 223X OHIFE =0/ A&
SHISAH 20,000
= 20,000
-0IM OISIIOHIE AIEIHE BXAISY 30,000
= 30,000
FASE e & AB = ot 6,130,612 5,611,769 518,843
= 4,246,265
& 565,154
Ea 1,329,193
MNASE F=HEE e 5,804,612 5,261,769 542,843
= 4,246,265
s 542,154
s 1,016,193
FHe 5,138,750 4,719,984 418,766
= 4,111,000
= 513,875
o 513,875
301 eEetE2 N = 4,438,750 4,092,594 346,156
= 3,551,000
= 443,875
o 443,875
01 Al EE A2 (2RNEXMR) 4,438,750 4,092,594 346,156
O FHSH(SXS04) 4,438,750
= 3,551,000
& 443,875
= 443,875
403 AXIEHMSAH=0l 700,000 627,390 72,610
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02 SIS0 CHSt A2 2 E A 700,000 627,390 72,610
O FAHSAH (=2 XZ0H) 700,000
= 560,000
& 70,000
[ 70,000
HUEZEAN StAISEXE At 54,000 116,000 A62,000
= 27,000
& 8,100
[ 18,900
301 LPENF 54,000 116,000 262,000
= 27,000
& 8,100
= 18,900
01 A BE X2 (R REETA) 54,000 116,000 A62,000
O EHEAN SAIEEXNA 54,000
= 27,000
= 8,100
= 18,900
HE HNEES3EEE 252 NJAAL 2,730 0 2,730
= 1,365
T 409
= 956
301 LPENZ 2,730 0 2,730
= 1,365
& 409
= 956
01 AISIBEH G2 (2 LEZME) 2,730 0 2,730
O Y MNBE2 2eEtEs B85 A3 2,730
= 1,365
T 409
= 956
NASHS dUHEE3 A 100,000 120,000 220,000
501 X2 100,000 120,000 220,000
01 CI2tgX2 100,000 120,000 220,000
O HASHS YURES X
10,000, 0002 = 10Al| CH 100,000
FHFLAS OlAHH] XA 2,000 0 2,000
= 1,000
= 1,000
301 LB F 2,000 0 2,000
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Rl MASE F=HEE e (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
206 M=l 18,000 25,000 A7,000
01 MHZH| 18,000 25,000 A7,000
MEQRK M2 2| 18,000
S0 FHSEAN 2F &d 7,788 8,712 NG24
201 er2 3| 5,436 6,360 N4
01 AtR2te|HI 2,376 3,000 A624
O FAN=AER 223 78
220,000 122 +90/100 2,376
02 35244l 3,060 3,360 A300
O Xl (AEEIA) 2,700
O dapld Olsdet 23
15,0003 28123 360
202 04dl 2,352 2,352
01 2L AL 2,352 2,352
O FH=XE SE0
70,0002 x4 %123 %70/100 2,352
S|otRA BIYIHA 25,000 40,000 215,000
< 12,500
s 12,500
402 QI2F X201 & 25,000 40,000 A15,000
= 12,500
= 12,500
02 QI A2 AL E R (01X THE) 25,000 40,000 /15,000
O slotA BIE T 25,000
= 12,500
o 12,500
SE FHEE Hd X2 326,000 350,000 24,000
< 13,000
[Ea 313,000
sEEIE ZHIAISE (HEALY) 300,000 300,000
402 BIZtAH=01A 300,000 300,000
02 QI X2 AL EE (01X THE) 300,000 300,000
O =& gd ZHIAMY 300,000
SE HI=HE 28 ZHIAE 26,000 50,000 24,000
= 13,000
Ea 13,000
402 2IZtA=01d 26,000 50,000 /24,000
=S 13,000
s 13,000
02 BIENEASEZ(0IETHR) 26,000 50,000 224,000
O s& "HIFAs 2EE| 26,000
< 13,000
[Ea 13,000
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SEHe g AR = 17,216 7,640 9,576
SN0 YA LA 17,216 7,640 9,576
He e R 6,440 7,640 1,200
202 04| 6,440 3,640 2,800
01 2LHAH| 6.440 3,640 2,800
O JHerasiel Ex0/)
70,0002 x5S %122 +70/100 2,940
O NgseERzr B8
20,0002 x5 +508] +70/100 3,500
AR (MI2Y) 29 10,776 0 10,776
201 fer23| 10,776 0 10,776
01 AtR2t2|HI 10,776 0 10,776
O ZA=R2 (M) 34 =
70,0002 x10H =122 8,400
O ZAA2(M2n) 425 7L
220,000 *122]+90/100 2,376
AY2LZHI(A=5It) 47,585 49,488 A1,908
JlI=23sl 47,585 49,488 1,908
JI=23Hl 47,585 49,488 1,908
201 fer= 3| 23,129 25,032 1,908
01 At 2|l 17,129 19,032 1,908
O ArR2teld] 19,032, 0002 *90/100 17,129
2 35244l 6,000 6.000 0
O =323l 6,000
202 04l 19,656 19,656
01 =LHAHI 19,656 19,656
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M FANEIYERFAY 4,800 4,800
O A=FdIHUESE BRFAH|
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